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General instructions for comprehension: 
a- Answer must start from the question statement 
b- It should be of at least 2 sentences;      single sentence answer is not permissible 
c- Do not add your own opinion unless you are asked for; ideas must be contextual to the passage 
d- Avoid replicating phrases from the passage; you may extract/copy words from it.
e-Give a closing end to each answer
f- Ideal length of answer is 5-7 lines. Avoid too lengthy answers
g- Also, do not begin answers with the words, “ Yes,No, And or Because “




